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v(m/s) R(m) S A(m?) h(m) [ n
7 8 11.05 A 0.735 0.417 7.790 0.72 0.00150 0.0294 o
7 8 12:00 A 0.586 0.269 4,590 0.53 0.00150 0.0276 o
7 8 ( ) A 0.688 0.346 6.190 0.63 0.00150 0.0278 o
8 6 1500 A 0.791 0.489 9.593 0.82 0.00150 0.0304 o
8 28 13:30 A 0.988 0.788 16.418 1.17 0.00150 0.0334 o
7 8 11.05 B 1519 0.302 3.360 0.57 0.00113 0.0099 o
7 8 12:00 B 1.310 0.220 1.702 0.37 0.00113 0.0093 o
7 8 ( ) B 1.388 0.268 2531 0.47 0.00113 0.0101 o
8 6 15:00 B 1.555 0.262 2.893 0.50 0.00113 0.0088 o
8 28 13:30 B 1.863 0.498 9.669 1.01 0.00113 0.0113 o)
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N=|n+305(C 4 )+ 15(C,Dhy+ C,A) + 2 h**(C, D) (2
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ny a; as g h Cu
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(1)
N
Ny Cu N n
N (1) 7 8 1105 | A 0.0294 0.425 0.0334 0.0334
7 8 1200 | A 0.0276 0.601 0.0334 0.0334
78 ( )| A 0.0278 0.582 0.0334 0.0334
8 6 1500 | B 0.0099 1.708 0.0334 0.0334
C, 7 8 1200 | B 0.0093 1.728 0.0334 0.0334
9 78 ( )| B 0.0101 1.704 0.0334 0.0334
8 6 1500 | B 0.0088 1.743 0.0334 0.0334
5 8 28 1330| B 0.0113 1.659 0.0334 0.0334
2 8 28 7 8
np 0.6
1) p.p118-120 2007.3



